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BHEd (<56.32) |#BHEd (Kb.34) | #wEET 1)
ESET] IBARRH 10A22H Ge ‘mEEd (<4.91) 8. 81 8.8
BEET 6.77) 5.96 6.0
BHET (K4.73) |BHET (K4.45) | BEET (<9.2)
|8 & EAt 108228 Ge BRHEY (K4.55) |#MHEET (K4.58) | #HET (<9.1)
BHET (<3.65) |#HEd (K4.44) | BEET (<8.1)
BHEET (B.41) |BEET (<K5.10) | BHEET (<8.5)
B4 AT 10A22H Ge BHET (<3.88) |#HEd (K4.76) | BHEET (<8.6)
S BHET (K4.46) |BEET (K4.20) | ®EET (<8.7)
BHET (K4.63) |BEET (<5.04) | BEET (<9.7)
IBEESH 10A22H Ge BHEEYT (B.70) |B®HEEY (K4.54) | BHEd (<8.2)
BHET (<3.83) |#wHEd K4.71) | BEET (<8.5)
BHEEYT (K4.10) |BEET 4.37) | BmEEd (<8.5)
B IER2—1 10A22H Ge BHET (<3.64) |BHET (<3.67) | BHEET (<7.3)
BHEEYT (Q.57) |B\HEEd (K4.28) | €T (<1.9)
BHEYT (4.23) |#BEET (<5.07) | BEET (<9.3)
HRHT (B &%+t 10A22H Ge BHEET (B.83) |#B®HEET (<5.62) | MHET (<9.5)
BHEYT (4.22) |#BEET (3.79) | BEET (<8.0)
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